National Income Accounting

In this chapter we will 39 A H BH Th W
introduce the AYTIEAT i oI HEATGI
fundamental functioning 1 YT I w39

of a simple economy. In
section 2.1 we describe

LAY o Ee 2.1 § s

some primary ideas we FY IRMAS faarl &1 Icis
sha:I_ wo;kzwith.dln . o g 59 91 89
section 2.2 we describe . N :
S S——
how we can view the FM & + W 2.2 |
aggregate income of the B ada 9Y T SeicHawl
entire economy going & &kl 9 TTRA dleil qqui
through the sectors of arefraee 1 qUE 39 &
the economy in a .
TH hd 3o HT Hhd =,

circular way.

T quiq fear =
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The same section also O W ° UNE A™ &l

deals with the three_ ways TW?lT 1 9 fafoy &7
to calculate the national

income; namely product Ict@ ©; A IR
method, expenditure fafy, =9 fafy o 3
method and income f5fy) oifug &€ 2.3 ®

method. The last section
2.3 describes the various U ™ &l fafay

sub-categories of national 3Ykifedl &1 9ui 2l

income.
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It also defines different g fafa=1 wma gt
price indices like GDP S-god Rl SR
deflator, Consumer TR SUsiEd] S99
Price Index, Wholesale . ’ .
Price Indices and qahish, oi% HIHd FIARIHI
discusses the problems %1 gt ) T @ 3R
associated with taking fedal Q-QT a’T qUEd H o]
GDP of a country as an \ \ .

indicator of the c\h A% b &4 H 39 <
aggregate welfare of % Hehdl T IR &l oA
the people of the A St g9E Il ®, 39 W

country. == = Tl_sc %I
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QJSOME BASIC 1 gufie refeme =t o9
CONCEPTS OF 'qg,[tq:([ Wq:rﬁ}:
MACROECONOMICS T
One of the pioneers of 3194°¥rl-—>r Fl T
the subject we call in fosa o 1 o Tonfua
economics today, Adam dret eyt | STt ueH
Smith, named his most g

’ o 4 3UHl I HEYUi
influential work-An —y :
Enquiry into the Nature i;IE' | Ay \3 I E"v'f' e S
and Cause of the Wealth T TS HISoS A®h § d¢
of Nati:ns.t:I‘Vhat - 3T H ﬁm " &7 AW ﬁ-q'“ Exil
generates the economic -
wealth of a nation? s Sl SH ol N
What makes countries hd BT 87 I AR e
rich or poor? These are T »a od 22 3 3refymes
some of the central 3 TS e g9 %0?

questions of economics.
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It is not that countries
which are endowed with a
bounty of natural wealth -
minerals or forests or the
most fertile lands - are
naturally the richest
countries. In fact the
resource rich Africa and
Latin America have some
of the poorest countries In
the world, whereas many
prosperous countries have
scarcely any natural
wealth.

g & © T 59 29 =t
QS 31Ydl 99 U4l ATdh

o &1 9 ¥ 99ied 994

3HIhT 3R cifed et
fasa & gaQ 109 29 ®,

\e

Safh SHE GG I

% 919

®IE Yrohides U &l 2
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There was a time when Ush 94U o1, 5d g'q;ﬁ-ﬁg
possession of natural gl & w3 % gag
resources was the most

important consideration but HE<aqUl AT Srar o1, dAfeh
even then the resource had a9 9t IR YA oh gl
to be transformed through a U HT ®YGI0T 2T 2T

production process.



National Income Accounting

The economic wealth, or
well-being, of a country
thus does not necessarily
depend on the mere
possession of resources;
the point is how these
resources are used in
generating a flow of
production and how, as a
consequence, income and
wealth are generated from
that process.

aifeies gufa stuar fohdt
29 o ¥t 8 oh fau
3% U ohdd GUIEHAl &l
gl TEvdeh &l 8, Y&
ad I8 © fo 39 gl &
3T Sy fear 9@ fSa
IR T Jdre 3Icd— Bl
dl 39 Yh¥ 9 hd ™
3R gufa &1 gor foa
S
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In our modern economic AR 3Ny i
setting this flow of e § IR & =q

production arises out of
production of gaTe @t Icafa areEl

commodities - goods and Sle-a8 3‘€I'lﬁ & gl &3
services by millions of — g i g g4t oh
enterprises large and

small. These enterprises j 15 @ ﬁ'cﬂ %l s_rrﬁ a?ﬁ
range from giant ge | arm w fEifsa
corporations employing a S 9 g -8 Tl 9

Iefrge number of people to SRt Thd ST Ha9™
single entrepreneur

enterprises. JURK %'
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But what happens to these  @ifdh IAURA & 9K 37 a1t

commodities after being $T 7 BT 22 & T %
produced? Each producer ¥ ot % SN

of commodities intends to

sell her output. So from the I i gidt §1 gEifee fa=
smallest items like pins or AUl §T Q- "gl 9

buttons to the largest ones Al aIgEaH, iHieEd, Sl

like aeroplanes,

automobiles, giant WA 3teren &z fasha A
machinery or any saleable Qa1 SIO-SleY, ghid 3Tl
service like that of the ﬁ?ﬁ-q ee gL Ee I L qﬁ Qa1 %, gl
doctor, the lawyer or the

financial consultant-the ¥ AT TS BT IARA
goods and services 3U9EdeT &l o894 oh fau fean

produced are to be soldto  Sqr 2)
the consumers



National Income Accounting
Ad: 9% Hl THI A I TR

Such an item that is meant
for final use and will not
pass through any more
stages of production or
transformations is called a
final good.

et SAfau Sy Iyttt
oh g Bl & JAuld 9= qA:
3WURH Yohd oh fhdl =0T 9
ToRAT TET qsar @ ot foe
3= 3ffaw a%g @ed 2
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Of the final goods, we can Afaw axg3n &t Ht St 9rn o

distinguish between 2T ST 9hdl &2 SYHTT ooy

consumption goods and
capital goods. Goods like 3R 15“"“ JEIU| SRR AR TS

food and clothing, and ST aqU den wARSE S
services like recreation that gaieif &1 3T ST ‘v'I'H?I T

are consumed when
purchased by their ultimate g, S Jifam suntFst & g

consumers are called 3Th %A fRan S 71 TR
consumption goods or YT a%U A1 I9AIHAT U

consumer goods. (This also Hed © (398 Q97 ot gfinfad
includes services which are

consumed but for g, ﬁ‘_il gfaen ?’lﬁj{& q g'q
convenience we may refer 32 IUMT IEU Hed 8)|

to them as consumer
goods.)
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Then there are other goods 34 918 H® 31 ThR i Hi
that are of durable a-{_—g["ﬁ‘" —Eﬁ?ﬁ' é"’ g.ﬁ et 'gq;ﬁ{

character which are used in .
the production process. &1 Bl & SR SR THA |

These are tools, implements 3%l T gar |1 T FEgel
and machines. While they } NIR, SYHT 3R 1:|Q"1—r[ 34

make production of other
| JEfU 3T 9ied, 9 &
commodities feasible, they ¢ NS

themselves don’t get fermion ?ﬁ & B dAfedd 3_?‘113:[
transformed in the YshH H $Toh €] oh ®4 H hig

production process. g T& e %I
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They are also final goods 3 offaw aeqd ff 2, fg ==
yet they are not final goods af w9 9 ST 5 S -

to be ultimately consumed.
Unlike the final goods that SaH =% :|g°r g1 S e oA

we have considered above, JfaH a&g3At ®l ==l i g

they are the crucial ﬁF 3 fodi ﬂﬁ scqlqrr Jshd Rl

s i o oo £
J
enabling the production to STRA ® TR ﬁqa?ﬁ ? 3R

take place. IURA 999 8l 9rdl %I
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We may note here that TeT I8 I] © fh oo a”@‘f

some commodities like S Iefifase g2, saaarEd

television sets, automobiles . L '
R R A Al s

or home computers,

although they are for %! agu 2, e ot 37 s
ultimate consumption, have  gge faviyar gidl & o 11\\;“: q
one characteristic in 8
common with capital goods I ﬁ'{:ﬁ Bt 21 .ﬁ W

- they are also durable. ot 21 HA¥iq & qa e
That is, they are not cYhifelh I § < &l
extinguished by immediate =t 2 RCIRSICE Eh‘l?f MR
or even short period sk . Y 33 am
consumption; they have a A ST dE]e il
relatively long life as ol glar 2

compared to articles such
as food or even clothing.
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They also undergo wear and 39I1T B4 9 37 i X
tear with gradual use and 2t 2 ok qOwmd STYal @ *

often need repairs and : ; ﬂ
replacements of parts, i.e., SR Sl e

like machines they also i &I, (99l dq 3R q-:
need to be preserved, TR Lo HY SRR gidl =

maintained and renewed. E'Fﬁﬁﬂl T = OIHJ,' &) T

That is why we call these
goods consumer durables.
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Thus if we consider all the
final goods and services
produced in an economy In
a given period of time they
are either in the form of
consumption goods (both
durable and non-durable) or
capital goods. As final
goods they do not undergo
any further transformation
in the economic process.

Id: fendt refeuaen 4 s <t g2
Ity & Iaarfed 9t 3ifaa

F&U 1 et | afg &0 faanr
L dt @ AT @ YA Ht a3
(mamﬁiﬁ‘cb‘a)ésmﬁ
ﬁ‘cﬁ%mq\ﬁﬁTﬁq%@ & ®Y

") Ifaq a&gstt o snfeie s
% Adid qA: &g qREd &l

giar 21
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In the economy a large YT ° el IAURA fh T
number of products don’t dEl AT A 399 T ®9 H

end up in final consumption
and are not capital goods T T Bt @ S 3 ‘1\"”' d

either. Such goods may be gl ot TR 21 T A F
used by other producers as  3IYINT 3 IMEH 3Nd FTHIT

material inputs. Examples & ®Y o FT gFHd % 37
are steel sheets used for
making automobiles and sermtarEa o & fag sem

copper used for making ®1 9EL HT I AR Fd9 a1
utensils. These are co) m ars T 9 3 q%ﬂﬁl?ff

intermediate goods, mostly

used as raw material or |E§{ % SRICEE A% i

inputs for production of 3 H hed HId AT AN

other commodities. These o ®7 4 ygad il 81 3 3ifam
are not final goods. El'{ﬂ‘f T ¥
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At this stage it is important T T W/ Qi 3R y4ae &l

to introduce the concepts GHUT KT IRET 9T HET
of stocks and flows. Often

we hear statements like the e} | %' R e g;lé' %
average salary of someone f fodt =1 fwa da9 10,000

is Rs 10,000 or the output TUU & 31d] 3T ST hl

of the steel industry is so fafq wqu
many tonnes or so many Eﬂﬁ < i3l Eﬂﬁ

rupees in value. But these T H 2 Al T8 HAT AAY
are incomplete statements T Hife g8 T 1€ 2 fa
because it is not clear 519 3™ &1 919 ®el T g 98

whether the income which

is being referred to is yearly aifies © ¥l Wi a1

or monthly or daily income 3R T 3T & Th TSI

and surely that makes a f=Tar SO =i =
huge difference
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FHife d T guIEfy & fau

Therefore we need to
delineate a time period to
get a quantitative measure
of these. Since a lot of
accounting is done annually
In an economy, many of
these are expressed
annually like annual profits
or production. Flows are
defined over a period of
time.

=

T 21 3Td: X 3ok URHvICHS

a9 90 & b fau @

quITEY 3ifed wG g4t B

dfe frdl siefeecen o sttt

l

ECIEEECICEC L S G

goifae 30 9 sifaentr i

q

s w9 9 &1 fasgeaa fean

]

a1 2, S9— aiftfes ey steEn

IWRA| JaI8 i Toh JUAEY oh
fera qiftenfya feran Sirar @
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In fact capital goods
continue to serve us
through different cycles of
production. The buildings or
machines in a factory are
there irrespective of the
specific time period. There
can be addition to, or
deduction from, these if a
new machine is added or a
machine falls in disuse and
Is not replaced. These are
called stocks. Stocks are
defined at a particular point
of time.

d

aa ®, oiia a&u &)

I & fafa=1 g9l 7 99
UM w3l 21 el o waT 3R
a3 fafyre guaEfy 9 s9ag

=

i ?1 TR fordt =8 weia &

9,

et foran Sirar @, a9 399

giiter SAger & 81 hdl ©
J1El T ATIET Bidl © qen
34 <ol &l ST @, 38 Wik
®ed ol €ih &l g fodt
fifyad 97a 9 &1 It 2
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Our final output that 8q 3ffay fia o |19 &t I=i
comprises of capital goods W ©, sar offay frfa =1
constitutes gross © < .
investment of an economy . T q\TrﬁTl?[ RAA jﬁ grdl %
These may be machines, foeg srefegaeen o goa fEw
tools and implements; F1 1 edl 21 =8 HeiA,
buildings, office spaces, st 3R SYHT[; T, HrdeE
storehouses or )
infrastructure like roads, T T, MM AT SR

bridges, airports or jetties.  TEAl, SA—TsH, 9, AT Al
H1e S B I 2|
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But all the capital goods fhq Tk I "-ll 3cqTied 9
produced in a year do not q\gﬁ-rm aggstt 94 qd € faemm

COI‘IStItI{te an addition to qsr ofs o ﬂﬁrﬁiﬁ E[ﬁsi T

the capital stock already .
existing. A significant part gt YSiTd a¥gat oh adqH
of current output of capital  ffq =1 T+ q@?cltj_j]f 390

goods goes in maintaining eI 1w|l* T ¥ s

or replacing part of the
existing stock of capital % 3¥ o W-@E 3R

goods. This is because the gfaeera 9 el Siar 21 gel
already existing capital ®Rur © 6 9d @ fammm gsh

stock suffers wear and tear VR N
and needs maintenance and " § T2-pe Tl @ SR Suh

replacement. W@-Ed Td Yiaeam- i
AMEAIAHAl Bidl 2|
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This deletion, which is g asgstt &1 frafa e-ge
made from the value of T GOESH F@ & 9 o

gross investment in order to

accommodate regular wear S0 few & I ﬁ*_‘l g
and tear of capital, is called @Y & YEIBH FHd =

depreciation.

fraa a9 = Wb fa9 -
Net Investment = Gross
investment - Depreciation HedelY
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@WW&J@@W@

In a specific time period,
say in a year, the total
production of final goods
can thus be either in the
form of consumption or
investment. This implies
that there is a trade-off. If
an economy, produces more
of consumer goods, it is
producing less of capital
goods and viceversa.

a8 o 3faq a3 H1 Fdd IURA

9fe df SYHI oh ®9 H AN AT
fae & ®9 A1 sHHT a9 @ o
I8l 39 iR Faw & o= &
IEA-<ct gt 21 Afg ferd
JhFaE § IYHIST a&]
wmaafwﬁmaitﬁﬁm
3T T hH AUl 39 faudia
3T 81 Gehdl @
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1 Adam Smith

Adam Smith is regarded as the
founding father of modern economics
(it was known as political economy at
that time). He was a Scotsman and a
professor at the University of
Glasgow. Philosopher by training, his
well known work An Enquiry into the
Nature and Cause of the Wealth of
Nations (1776) is regarded as the first
major comprehensive book on the
subject.

The passage from the book. The
physiocrats of France were prominent
thinkers of political economy before
Smith.
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J John Maynard Keynes

John Maynard Keynes, British economist,
was born in 1883. He was educated in
King’s College, Cambridge, United Kingdom
and later appointed its Dean, Apart from
being a sharp intellectual he actively
involved in international diplomacy during
the years. Following the First World War. He
prophesied the break down of the peace
agreement of the War in the book The
Economic Consequences of the Peace
(1919). His book General Theory of
Employment, Interest and Money (1936) is
regarded as one of the most influential
economics books of the twentieth century.
He was also a shrewd foreign currency

speculator.
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™ &1 ada yde 3R
ST 3 MUl bt fafy

JCIRCULAR FLOW OF INCOME
AND METHODS OF
CALCULATING NATIONAL
INCOME

The description of the economy

in the previous section enables

us to have a rough idea of how

a simple economy - without a

government, external trade or

any savings - may function. The
households receive their
payments from the firms for
productive activities they
perform for the latter. As we
have mentioned before, there
may fundamentally be four
kinds of contributions that can
be made during the production
of goods and services

qd ©S H AUHIEA b HdY |
Sl 9ui fhar &1, 399 89 A
fietrent a8 ST A @wem & e @
fh HIT O SrdfTaeel TR,
9T AR 34T fhdt 99d o
fam fog g =& St 31 A,
JRErl &l 39ch 3IUReh by,
et o8 fourgT wxar ®, o fau
YAH Hdl 21 SErfer g9 I8d
gl Scoi@ fean @ fo axgett ek
gaien oh IARH o SR 9R
YR & difas qeE fed s
ghd B
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(%) S 99 &1 ANR_H,
foraent qifitgfaes A=l

(a) contribution made by human
labour, remuneration for
which is called wage

(b) contribution made by capital,

remuneration for which is
called interest

(c) contribution made by
entrepreneurship,
remuneration of which is
profit

(d) contribution made by fixed
natural resources (called
‘land’), remuneration for
which is called rent

o elldl %l

\ )

(@) ‘]_\WI %l JUSH, TS

qifiafas s 2l

(1) I 1 INRH,
ot uifigfas o 2

(o) e yropfaes garyEt
(fS8 afs Fe1 S 2)
&1 ARMH, forTehT
qfgfys o 2
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In this simplified economy, 39 Wicitoha dgaeen # fat

there is only one way in T& a1 ¢, s ufEr
which the households may ST e T
dispose off their earnings - . ST R

by spending their entire g1 AHA: I AU FHE 3T
income on the goods and i SIiFL ®H g IIfed
services produced by the T2 " 3R 9ie W Y HI

domestic firms X
g&d 2
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The aggregate consumption LA o IRERI &1 ‘vTHFI

by the households of the 399N BT g1 SdIfed T3
economy is equal to the

aggregate expenditure on 3 @H AU gL K =99 &
goods and services IeR Bl @1 Ird: fasa guria

produced by the firms in the % ®9 H JIYI9=T I 90

economy. The entire income 3™ IAEH S I qq: 999
of the economy, therefore )
Y ’ T STy 2

comes back to the
producers in the form of
sales revenue.



National Income Accounting

When the income is being STd 311'€I &l BH ?;ITI IdTied
spent on the goods and &g 3 Fanstt W =9 fehan
s_erwcc_as produced by the ST % @ TE OuE = % ®Y
firms, it takes the form of ) ) <. .
aggregate expenditure ¥ wd H 9w i 2 9f
received by the firms. Since I h1 oI a3 3R g9t
the value of expenditure e T & e aifew,
must be equal to the value

of goods and services, we THITY 39 ¥ ™ &1 A
can equivalently measure Y a% g1 3T a&gatt 3
the aggregate income by a3l o U Hod i UM
‘““calculating the aggregate 5 F@ D)

value of goods and services
produced by the firms”
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Spending

Goods and Services

Factor Payments

Factor Services

Fig. 2.1 : Circular Flow of Income in a Simple Economy
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This method will be called IJe fafy =9 fafy searitl

the expenditure method. If afs g7 (B W) qqﬁ O &
we measure the flow at B N

by measuring the aggregate gRI ScUIf{d a&gan qn dara

value of final goods and % TUW oAl i 7Y HWQ ©,
services produced by all the g fgfy e fafy e«
firms, it will be called C | 9t & SREATN &

product method. At C, |
measuring the sum total of el AN 1 |9 A fafy

all factor payments will be e
called income method.
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1] The Product or Value
Added Method

In product method we
calculate the aggregate
annual value of goods and
services produced (if a year
is the unit of time). How to
go about doing this? Do we
add up the value of all goods
and services produced by all
the firms in an economy?

d IWUR 31El goaatea fdafy

Wl‘q’ﬁrraﬁgﬂwﬁ‘d
&gl 3R Garer & i
Ted &1 TOAT H @ (IR T
98 U Hi FhIg &1 )| SHhI
MOl @ 1 ST? 1 A
AefaTer o gHt ®H g
ScuTfed &gt 3 daren =
7w 282
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The term that is used to

denote the net contribution
made by a firm is called its

value added.

Production, Intermediate Goods and Value Added

w4 o f1ad aheE &t 59
v @ gfaa fean wmar 2, 3@

Yegated wgd 2|

Farmer Baker
Total production 100 200
Intermediate goods 0 50
used
Value added 100 200 -50 =150
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We have already introduced HcIgrd &l Ghoddl 9 8H tE:f
the concept of depreciation, qfifga & g feer it‘ﬁ F1

which is also known as .
consumption of fixed 3UA o wed 21 JfH SR

capital. Since the capital % g9 o gad et o
which is used to carry out i T | a1 q:ryﬁ % g ol

production undergoes wear s
and tear, the producer has @ oh fau ScR® Hl

to undertake replacement RIGISIEEREEN] Ul Gedl 2l
investments to keep the gfaeenua a9 ¢Sit 1 g™

value of capital constant. A %I
The replacement

investment is same as

depreciation of capital.
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If we include depreciation in i B0 Hogditd | Yodg™
value added then the measure of #} snffiyer 3 @t A Wﬁm

value added that we obtain is N
called Gross Value Added. If we ol Sl Hed AT B, 3® =W

deduct the value of depreciation IFd HTAAt Hgd g1 afg
from gross value added we Hohd HoAdiad ° Hoagi i

obtain Net Value Added. Unlike goron 53t @t fraa L REILE

gross value added, net value
added does not include wear T 31l &1 Whdl qeAdid o

and tear that capital has faudia fraa geafia o g
undergone. @l I2-Ppe WA T B

The sign ‘=’ stands for identity. _
Unlike equality (‘=’) fag ‘=’ Qe &1 Jamar 2|

aEar (=)
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Inventories are treated as ~ AIA-Y& ISt & &9 H qHAA
capital. Addition to the STt %I wd igﬁ =iF o
stock of capital of a firm is e N ) %'I

known as investment. .
Therefore, change in the 3d: Hi-YEl # qREd i

inventory of a firm is treated fidy1 & Y ¥ gH SAT =)
as investment. There can be e #1 @9 PLre) S %'I

three major categories of .
investment. First is the rise A4, U ®H °h Th a9 H

in the value of inventories of HIA-Yd1 & oI ¥ 9i§ @,

a firm over a year which is 5 f& wd =7 a9 =T FE
treated as investment 3
expenditure undertaken by el

the firm.
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The second category of e &t gEd *ife feer
investment is the fixed 99 a9 g SR FIREA
business investment, which T

Is defined as the addition to " ’ A , ?;I'{I
the machinery, factory TIT 7T 3Yh0] oh &Y |
buildings and equipment yftarfaa faar <iar 21 99

employed by the firms. The &1 3fag wife mErEy a9

last category of investment
is the residential 7, St srmamy glawnsn o At

investment, which refers to &l SdIdl %I
the addition of housing
facilities.
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Change in inventories may Aqid-YEt ® giEda faifea
be planned or unplanned. In ear fifsa 8 ghdar =)
case of an unexpected fall in

P fasl 4 Stycai¥a firmee aﬁ

sales, the firm will have
unsold stock of goods which  T&Ifd % ®H o g™ JEI3T <1

it had not anticipated. Hence gifgfeg wie ahm fSaah aR

there will be unplanned . .
accumulation of inventories. W 98 SR TRl HT THa1 A

In the opposite case where dq: HIA-YT 1 AT
there is unexpected rise in 9g 3NN s9eh fauwdia @l

the sales there will be fal ¥ STqcarford 7{@ 2
unplanned decumulation of . & st '
inventories. del Hicl- EEE“

A9EET B
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Net value added of the firm  ®H | &1 faa qeaafia = GV
i = GVA, - Depreciation of the A - & i &1 Jeag™ (D, ) af<

firm i (D)) If we sum the gross gy Tsh a8 | srefegaeer 1
value added of all the firms NN
of the economy in a year, we qell Al h T 14 Terd b1

get a measure of the value of 7T &1t af &d o o
aggregate amount of goods 319,{@3-{:9,11 ¥ Iauifea asqant ik

and services produced by the Sarent & gueg 9T & T
economy in a year (just as we

had done in the wheat-bread 1< &M (S B T

example). Such an estimate  7g-9S dld 3ISEIUT ¥ ol
is called Gross Domestic §)|
Product (GDP).
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Thus GDP = Sum total of
gross value added of all the
firms in the economy. If
there are N firms in the
economy, each assigned
with a serial number from 1
to N, then GDP = Sum total
of the gross value added of
all the firms in the economy

= GVA, + GVA, + ..... + GVA,

Therefore GDP = Y GVA

39 YhR 1 3Theld Hohal S
3 (GDP) seaman 21 3m:
GDP = siefoqaeen o 9+ wat &
o HeIdidd &1 ohad AN Afg
stefeaeen 4 N wd & iR ud=
% 1 9 N %0 gen # faen 9d,
at

GDP = sivfsgaeen o 94l wdl s
bl HIAtad &1 el A

=GV A, +GVA + - +GV
Ay

s7: GDP =5 ' GVA
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The symbol ) is a shorthand -it
IS used to denote summation.

For example, >N X. will be

i=1
equal to X1 + X2 +...+ XN. In this
case, >N GVA stands for

the sum total of gross value
added of all the N firms. We
know that the net value added of
the i-th firm (NVA) is the gross
value added minus the wear and
tear of the capital employed by
the firm.
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Thus, NVA : GVA,- D,

Therefore, GVA_, : NVA; + D,

This is for the i-th firm. There are N
such firms. Therefore the GDP of
the entire economy, which is the
sum total of the value added of all
the N firms (by (2.2)), will be the sum
total of the net value added and
depreciation of the N firms.

In other words, GDR ZN NVA,
+ ZN Di
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This implies that the gross
domestic product of the economy is
the sum total of the net value added
and depreciation of all the firms of
the economy. Summation of net
value added of all the firms is called
Net Domestic Product (NDP).

Symbolically, NDP: >N NVA!
i=1
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Expenditure Method =9 fafy
An alternative way to Hohdl ®ic] IS i UMD hi
calculate the GDP is by T Sefeqs fafa sare 9 O

looking at the demand side .
of the products. This qel &t gfte # T@ehY &l 2

method is referred to as the 39 fafyl &t =qg fafy wed 2|
expenditure method.
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Income Method 3 fafy
As we mentioned in the I | ST T g0 Iea@ fhan

expenditures in the economy . .
must be equal to the incomes A I o WAl FRHI

received by all the factors of  Siiad 3 (3AfdH % T

production taken together (final &1 =4 2, 3W Hegad a%g W
expenditure is the spending on f&a1 1 =49 gfiufaq a8t 8) &

final goods, it does not include gyt gar 21 I=T g W R
spending on intermediate T AT a2 fF gut wal

goods). This follows from the
simple idea that the revenues o g wftufed 9 € e

earned by all the firms put TS 1 fadatun IARA o hahl

together must be distributed & = ddd, Asigdl, 9, <A

among the factors of production 354 3R o9 & ®9 ° T
as salaries, wages, profits, =ifeu

interest earnings and rents.
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The aggregate final
expenditure received by them
(=GDP) must be equal to
consumption expenditure and
iInvestment expenditure. The
aggregate of incomes received
by the households is equal to
the expenditure received by the
firms because the income
method and expenditure
cancels out from sides, we are
left with aggregate savings
equal to the aggregate gross
iInvestment expenditure.
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SOME MACROECONOMIC
IDENTITIES

Gross Domestic Product
measures the aggregate
production of final goods
and services taking place
within the domestic
economy during a year. But
the whole of it may not
accrue to the citizens of the
country.

HS U AUIMSIE AR

ghdl R I H fohdl
aiqadmawéswﬁr

@?ﬁfé??ﬁ{

aHd

T o gu&

3 &1 919 &1 Srdl 2|

fehq 39&T YU IAURA W
&l ST &l 9T A8l 8l
ghdl 2l
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For example, a citizen of
India working in Saudi
Arabia may be earning her
wage and it will be included
in the Saudi Arabian GDP.
But legally speaking, she is
an Indian. Is there a way to
take into account the
earnings made by Indians
abroad or by the factors of
production owned by
Indians?

3]E0T o falg, AaRd & ArTis
O34l 3 H Helgll 3fsid &l

2, S g

3IE e Hehel *

3 o Infae & fafae ®q

g 98 T&h 9

@ 21 AR o

g fsia o1

3 AYAT AR h

Wi o IR oh hRhl oh
AT 3™ &t A9 & hi T

*Is fafy &2
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For example, the profits
earned by the Korean-owned
Hyundai car factory will have
to be subtracted from the
GDP of India. The
macroeconomic variable
which takes into account
such additions and
subtractions is known as
Gross National Product (GNP).
It is, therefore, defined as
follows

of | IR WU i

g3

T hadl & g SAfSa

T &

| Rd o Hhel R

3G 9§ ST 8 Ui
AL afiad 4 59 YR oh
Site 3R =@ &l Gohd U=
3R & ®Y ¥ SMT Sl 2
3Ad: 39l giaren f=fafed
®q 4 ST It 2
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GNP = GDP + Factor Hohed U IR = Hehel =R
income earned by the 3R ¥y fava ¥ g
domestic factors of Y
production employed in ST o8 sli?!\ s

the rest of the world - AfSid HRH AT - R,

Factor income earned by efagaeen 1 faifea 3y fasg
the factors of production % IR » SIS e sl

of the rest of the world
employed in the domestic
economy Hence, GNP =
GDP + Net factor income
from abroad

Sllsh AF|
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(Net factor income from
abroad = Factor income
earned by the domestic
factors of production
employed in the rest of the
world - Factor income
earned by the factors of
production of the rest of
the world employed in the
domestic economy)

(fajen 9 g faa & 3™
= 7y fava o faifsa SaA
% ®¢] BRI oh g 3ifsid
R I - oq] Jdcgaeen §
fifsa iy fava o SR o
Rl g 3AfSid HRE M) |
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We have already noted that
a part of the capital gets
consumed during the year
due to wear and tear. This
wear and tear is called
depreciation. Naturally,
depreciation does not
become part of anybody’s
income. If we deduct
depreciation from GNP the
measure of aggregate
income that we obtain is
called Net National Product
(NNP).

NNP = GNP - Depreciation

t@cﬁ'ﬁa@ﬁéﬁ?gg—&d
% &R 98 oh IRE YSil & Th
319 1 IYHTT KX feran <mar 21 39
Q\d—‘tdaﬁwmél
@i @ % Joaem™ fedl
Hfd 1 A HT 39 &1 Il
Ifs 89 9ol TR 39K 9
Tede™ &l ¥e §, a9 g9 99w
faa U< SR FEd B

Tad U 3G = Hohel TR
IR — YeaB|




National Income Accounting

It is to be noted that all SeatEd @ T o1 uftaal o
these variables are HedTh dSIR $1Ud T AT Sdn
evaluated at market %I [cm =iTw & e Q@

prices. Through the .
expression given above, SR 6 Hd W gedifha Had

we get the value of NNP T IR 1 Yo I 8l =,
evaluated at market ﬁl—»_g[ ISR SHd ° 3T9ge] &Y

prices. But market price
includes indirect taxes. JUEE Eﬁ g1 AT FT g

When indirect taxes are 3R Qe W oifua fd S &1
imposed on goods and Told: hId 9¢ Sl @1 STIcHeT

serwce_s, their prices go T TFR F gt a2y %I
up. Indirect taxes accrue

to the government.
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We have to deduct them from {9 UL IR &1 98 AW

NNP evaluated at market St 9rdg ¥ ST % SR
prices in order to calculate

that part of NNP which RURRUERIULL e, 34t 7o
actually accrues to the % oh A H AR Shidd T
factors of production. b RUET] L DI E G T |

Similarly, there may be 3L HA Hl HI™T Sl el
subsidies granted by the

government on the prices of 34l YR, o &3l bl
some commodities (in India HIAdl W GE&R §R IUKH

petrol is heavily taxed by the g far ST 9hdal © (9Rd o

government, whereas cooking .

gas is subsidised). AN W AT HT
T @ e WiE 9 |
SUSH YsM foRdr wmar @)1
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So we need to add subsidies 3d: 81 IR &iAd W
to the NNP evaluated at qAlihd fad U= Idig |/

market prlce_s. The rr_leasurc_a ST & e $  F1
that we obtain by doing so is

called Net National Product STETAHal gt 2| Tl i W

at factor cost or National g S "9 9w gidn ®, 39

Income. ®eh drd W faa U=t
IR AU UL 3 Hed 2|
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Thus, NNP at factor cost = 3d:, HRh AN W Faa T
National Income (NI ) ENNP 3@ = Ui 3t (NI) =

at market prices - (Indirect
IR $iEd W f9d T8 39K
taxes - Subsidies) = NNP at °

market prices - Net indirect — (3TTI& T - IUH) = 9NN
taxes (Net indirect taxes =  &iHd W f1del U= IR -
Indirect taxes - Subsidies) fae styy U (fad sus

H{ = AT hY - IUSM)
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We can further subdivide
the National Income into
smaller categories. Let us
try to find the expression
for the part of Nl which is
received by households.
We shall call this Personal
Income (Pl). First, let us
note that out of NI, which
Is earned by the firms and
government enterprises, a
part of profit is not
distributed among the
factors of production. This
is called Undistributed
Profits (UP).

TR 3™ &l &9 YA:
Be-sid wifeat 7 sufawfsa
®{ Ghd =1 A9 89 IRE oh
gl Tl TS 3 oh 33 ok
fau srfyeafaq 9t 1 39 8|
dgfaas ™ HBN| YoM, U
oifsie fh U< 3 <t wAl
IR T S=Et & g 3rfsla
%! 9 2; & @ A9 &1 Th
I IR oh hRhl oh o9
faafta 71 &t 2, 39 sifaafa
Y $hed o |
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Thus, Personal Income Iq: dafeds I = AN
(Pl1) = NI - Undistributed I - Afgdafid g -
profits — Net interest TfEr &/ &1 T frad
payments made by

households - Corporate TS SR - 6T +

tax + Transfer payments TWHR AR ®a 9 gRErt &
to the households from Sl T AT 3SR

the government and firms
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Personal Disposable Fafads TS 3 =
Income (PDI) = PI - Yafsas s - Sk .

Personal tax payments -

Non-tax payments. IERAT - AR S
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Personal Disposable Fafaas 999 A 9fEr

Income is the part of the 7 GO ST T 3197 %I 3
aggregate income which

belongs to the households. $Hch Teh 330 <l IUHM
They may decide to % hl FUlg & g6d @ 3R

consume a part of it, and Y F1 994 HT Ghd o)
save the rest.
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National Disposable Income
and Private Income Apart
from these categories of
aggregate macroeconomic
variables, in India, a few
other aggregate income
categories are also used in
National Income accounting

e National Disposable
Income = Net National
Product at market prices +
Other current transfers
from the rest of the world

U yasa g SR fash

Aq

IRd § 9% Uit 37ef9m

IR

qfadl &1 31 &ifedt & Iard
FS I GUE I Hifedr wt

d@i®T o sidl 2|

* TN JIINT 3™ 3 dNIR
iadl )W faa I 3dR

3y fava o @R 33N € I

A Al AT
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The idea behind National TR YA AT o qidsd &l
Disposable Income is that faar 98 © f suq e[
it gives an idea of what is ﬁ??l?ﬁ 3 £y srlq\ arefergeey B

the maximum amount of

goods and services the SRS T R darstt &t sifaman
domestic economy has at e fhat @1 9w favg o =g
its disposal. Current T N IUER. GETIdl T
transfers from the rest of .

gAIfE 3d =

the world include items
such as gifts, aids, etc.



National Income Accounting

e Private Income = Factor o fsil 3™ = fasit &3 =+l
mcome_from net 3T T a9 gliq I 9
domestic product
accruing to the private ATl chh 311'€I + 1 EE’«M A Y1
sector + National debt N + fa_3n 9 9t faa
interest + Net factor FFH 3T + TR @ T
income from abroad + . r
Current transfers from Ri + A § o
government + Other net Mae sTaon

transfers from the rest
of the world.
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0 NOMINAL AND REAL a wifse e =R i

GDP arEdfas &Y

Therefore, in order to _ .
compare the GDP figures 3q: fafe= < & wwa =q

(and other macroeconomic SIS oh Alhsl (3 gufte
variables) of different AL gfiadt) i e
countries or to compare the storar fafa=y gt o wF & 29
GDP figures of the same

country at different points h A ‘EIiF[\ IR & SAlhst
of time, we cannot rely on I A & h A H FH dI]
GDPs evaluated at current SR S IIdl € qAifhd bl
market prices. For ‘Eliﬂ IR R favag 7=t ¢
comparison we take the gl ¥ \ o

help of real GDP. | qetl < eH

ai&dfoleh Hehed ®Re] IUIE i
el & Hha o
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Real GDP is calculated in a
way such that the goods
and services are evaluated
at some constant set of
prices (or constant prices).
Since these prices remain
fixed, if the Real GDP
changes we can be sure
that it is the volume of
production which is
undergoing changes.
Nominal GDP, on the other
hand, is simply the value of
GDP at the current
prevailing prices.

aIdfas hel BRe] IUR hi
mmmuwaﬁaﬁr%ﬁ
T3 1 YA HiHdl oh HD
feerk gq=a9 a1 (feer FiHdl) W
giar 21 9fe 3 *iad feer
2, guifere af arafas gwa
o] SR B gfiad gt €,
g Tify=a & & s o afmm
q qftada g suah faudia
Hifseh el W] ISR IAHH
SIHd T Yohel ®c] IAIE hl oI
o & 2
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Notice that the ratio of o ST fo Hifssd awa e
nominal GDP to real GDP IqE 3R arafas god gﬁq

gives us an idea of how the 3 3 =
prices have moved from the S8 qurd e A

base year (the year whose el @ foF &iad & SuR a9
prices are being used to (fSg o &1 SiHal s1 99T

calculate the real GDP) to 2
the current year. In the eh ot 'tEL TR i

calculation of real and T H &Y S @) HT ger |
nominal GDP of the current 4] 9% ® ¥ YR gfg T3
year, the volume of <Te] T8 S grafas 3R Iﬁﬁﬁ

roduction is fixed. .
P Hohdl ®ic] IS I MUMET H

I 1 qfmmor feer &dr =
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Therefore, if these measures 3: 37 |Gl | A chad

differ it is only due to MUR a8 3R =re] adf =l
change in the price level HHd § I h HRUT S sl

between the base year and 21 Hifes 3R arafas 9@

the current year. The ratio of TRe] SRl T Aurd guiifaa
nominal to real GDP is a well g ga®i® sl o1 39

known index of prices. This The Se] SR ATERITH
is called GDP Deflator. Thus #Ed &1 o1: THe e IR
if GDP stands for nominal
GDP and gdp stands for real
GDP then, GDP deflator =
GDP gdp

¥ Hifse god Re SR qe
GDP 4 ar«fas gda R
STIE T 9ty BT 21 g
e IR 3EEhIfdh =
GDP

gdp
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Sometimes the deflator is S Yl aThifde i
also denoted in percentage yfqurd & ust ¥ ot w<fifq
terms. In such a case fepan Siram @1 =9 feefa o,
deflator = GDP x 100 per RIS = GDP %100

cent. gdp gdp
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There is another way to
measure change of prices
in an economy which is
known as the Consumer
Price Index (CPI). This is
the index of prices of a
given basket of
commodities which are
bought by the
representative consumer.
CPIl is generally expressed
in percentage terms. We
have two years under
consideration - one is the
base year, the other is the
current year.

AT 4 wiadl 8 gfiads &l
a9 & w1 g fafy o 2 5
YT HIHd H_\dchlch (CPD)
®ed 8| I8 a&3 Ht < T
i, ot g gfafafy Sasia

®d 8, BT HIAd Ihl® =l

YIS HIAd Yhich bl IHE:
gfaerd o &9 § oaed fwar Siar @)
AP N RMTaR @ & — &
wwaﬁﬁm%awww

qd| TH 3MYUR 98 H qEg37

"l

g3 <l oh Hd il WA i UMD

% 2
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T ©EU &I9d sidt & S

One is the retail price
which the consumer
actually pays. The other is
the wholesale price, the
price at which goods are
traded in bulk. These two
may differ in value because
of the margin kept by
traders.

IYMSAT 9 | 31T Hdl 2l

T ol

HIHd W IgHET H 952

% HITd Bl ®, 3

Wﬁmélﬁﬁézw

4 3T

3l ghd 7, TR 3Uid

AR & 99 @l 2
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agmsnﬁ MR ! S ATl

Goods which are traded in
bulk (such as raw materials
or semi-finished goods) are
not purchased by ordinary
consumers. Like CPI, the
index for wholesale prices
Is called Wholesale Price
Index (WPI). In countries
like USA it is referred to as
Producer Price Index (PPI).
Notice CPI (and
analogously WPI) may differ
from GDP deflator because

I3 (h=dl HI Al
sref-fafifa aqu) 1 ®a FUR
SyHtar T w |1 SUHeI
HIAd YAkl h AN Al hiHd
gdhich il oish HIAd Yhih
(WPI) %&d 81 99 T 3t
4 29 W 3@ SRS HiHd
g=is (PPI) #8d 21 v © &
YA HIHd YAhlh (Uih
®IHd gahlsh oh TEYF) | hdl
TR IR AAThifdeh 9 R 8l
&l 8 HifE
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1. The goods purchased by

consumers do not
represent all the goods
which are produced in a
country. GDP deflator
takes into account all
such goods and services.

CPI includes prices of
goods consumed by the
representative consumer,
hence it includes prices
of imported goods. GDP
deflator does not include

prices of imported goods.

1. Sudiear o a1t &1 %A
®¥d €, 39 3 | Icuriga gt
a3t &1 gfaffae &Y & 21
Gehdl *Re] IR AThifaeh d
gt wEl 9l 3 derd @

2. JUHIHT HIHd Akl H
gfaffar IuAredr g1 YT i
T Tega F FhE i 3
3d: 3q° IATfad a3l &l
®IUd IS T Thal el
SR 3aEhifde | 3ETfad
Tegat F FhE Wi T @
2
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3. The weights are
constant in CPI - but they
differ according to
production level of each
good in GDP deflator.

3. SYHIHKT HIAd Ydhish H
R frea war 21 afe
gl ®ie] 3]

AAThifdeh H Tdeh ¥ oh
SR &R oh ATUR 3
X giar 2|
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GDP AND WELFARE gHhdl SR AR 3 HeA
Can the GDP of a country R fHdt 291 o gad gliq I
be taken as an index of N 1 & G >
the welfare of the people W \ o el
of that country? If a qahich oh &9 H fordl ST Hehd
zersonhhas mot:'e income 22 Ife fodt =afaa &1 ™

e or she can buy more .
goods and services and Aler® % ?ﬁ T Al TS
his or her material well- 3R A &1 HA HL Fhal 8
being improves. So it may AT 3T Hifdw weamor o
seem reasonable to treat YR 2 gl %I 3. I 3faa

his or her income level as
: I fo 379k 3 WX &t 3Th

his or her level of well- .
being. AN &R oh §7 § <@l U
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GDP is the sum total of
value of goods and
services created within the
geographical boundary of a
country in a particular
year. It gets distributed
among the people as
incomes (except for
retained earnings).

Hohdl ®iq] I fh&t o
faviw & fedl 291 &1 inifes
ﬂﬁméswﬁrqﬁmaqqa
qditt & Hd Jed &1 I
ﬁﬁ%lmaiqs—ccrmaﬂ
faator < o = A
(gfauid 3T &l Sgh ) |
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1. Distribution of GDP - how 1. hdl ¥R SR HI
uniform is it: If the GDP faqor: I8 fhddr 999
of the country is rising, Y *F gHa Srlq
the welfare may not rise e qﬁ;%ﬂ = 3
as a consequence. This is STIS ilg l,
because the rise in GDP AT | ISP 3TTUAR
may be concentrated in gfg TEf 8l "wdl 81 3§
the hands of very few -
individuals or firms. For erfq o |qUl < o
the rest, the income may wearl | gfg TEl 8l
in fact have fallen. In gdhdll

such a case the welfare
of the entire country
cannot be said to have
increased.
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2. Non-monetary 2. -difger fafma: stefeaasen

exchanges: Many % 3k HRABATIl hl AT
activities in an economy Ao =7 § T2 2

are not evaluated in

monetary terms. For SHEEU IR B IIT%ETE STt 39 )
example, the domestic " Tq qarett &1 e &

services women perform 2 g fau 39 I3 nifiiafaes

at home are not paid for.

The exchanges which g1 fHerdll T St U8Rl oh
take place in the a1 smeity=fie & o i

informal sector without fafmg s 2, 3@ o ﬁrﬁmtr
the help of money are Fed ¥ a%q fafma o aga

called barter exchanges.
In barter exchanges, H1 (Famd) @—{Fﬁ & ¥

goods (or services) are Torel ®9 9 fafma e 2,
directly exchanged

against each other
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3. Externalities:
Externalities refer to
the benefits (or harms)
a firm or an individual
causes to another for
which they are not paid
(or penalised).
Externalities do not
have any market in
which they can be
bought and sold. For
example, let us
suppose there is an oil
refinery which refines
crude petroleum and
sells it in the market.

3. 9@l SRUT: 9.l Il 9
acad fedt wd a1 afaa o
o (') 4 2, foad gaw
qe goifaq gar @ o e
T foa sar @ (Sfeq) 1 s=
HTUN &1 His IR &l sidl
e, g 39 wdier @ d=n
ST ok | 33T & fau, aF
difsie o weh 9« e 999
2, o w=a deifaaw =
gfignyE i @ 3R S8 9NN
o o1 Sl 2
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The output of the dd 3Ygs I &1 Fld s9eh
refinery is the amount of <0 gfEnfaa da &1 49 2l
estimate the value € A WMo FoA F
added of the refinery by TeFEdl o qed (39 feafa #
deducting the value of dhedl del) il 39k fia 9
intermediate goods used S PAL XA Wﬁﬁﬂ HT 3HT
by the refinery (crude oil Y ¥ ¥e . .
in this case) from the ®l | M T34
value of its output. The oh Joaditd i refegaee
value added of the 3 bl sﬁq\ 39 H MUET
refinery will be counted = S %I

as part of the GDP of the
economy.
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Pollution may also kill Y9UT § HScil 1Al A€t oh A
fish or other organisms stal o Sftaq &1 a0 & g&hdl
of the river on which fish

survive. As a result, the ¢1 wad: T B ."I i ST 3T
fishermen of the river 3R IyAifiar 9 af9a sm e
may be losing their g qaTd 2| Aifasw &t <]
livelihood. Such harmful ¥ gl qar&',—li sl = ag 9

effects that the refinery . i
is inflicting on others, for dfad gH1 7€ Whdl ?1 A wMuw

which it will not bear any g5l g S W ST MY
cost, are called RS goaEt st 37 #1E
externalities. :
AN el 3T’ HET Bl , ST
HRUT HE S 2|
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if we take GDP as a
measure of welfare of the
economy we shall be
overestimating the actual
welfare. This was an
example of negative
externality. There can be
cases of positive
externalities as well. In such
cases, GDP will
underestimate the actual
welfare of the economy.

af< 89 Uehdl SR I i
AdTTEAT S HATU i A
& ®9 H o, d 84 ar«ide
AT kT Afd TR YT
M I8 FOMcHS STRhUT &l
3R ATl I8 HHHS
dIRIhIT &t feafaar «f &t
ghdl 21 wHl feufaa 9 goa
el IR § fegaeen o
dr&dids hedIul sl

3TCY-HATh BN
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At a very fundamental
level, the macroeconomy
(it refers to the economy
that we study In
macroeconomics) can be
seen as working in a
circular way. The firms
employ inputs supplied by
households and produce
goods and services to be
sold to households.
Households get the
remuneration from the
firms for the services
rendered by them and buy
goods and services
produced by the firms.

afa Aifes TR W gufem
gLy (99 rdsaeen &1
ALY 89 gUfe A ° &
?) &l & vgfa & ada g o
2@l 1 Gehdl 81 ®H @™ o
g qfd foru T swmai 1 fisH
W 2 AR Er & d=1
foau agen 3t Qanstt &1 IR
%W ol IRER ®wH & 9SH &)
TR 941 o fau qifigfas g
W%aﬁiwﬁwﬁmwﬁa
gl 3R Tt &1 HA Ll
2|
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So we can calculate the 3Hd: 'H mgf sefgaeen o

aggregate value of goods 3cqIfed a3 S A i

and services produced in e A9 ° @ B ot faty

the economy by any of the )

three methods q FT gHhd 2

(a) measuring the 1. SR& R o GO gl
aggregate value of $1 U9 H& (M fafy)

factor payments
(income method)
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(b) measuring the 2. ®H g1 Scuifed aegan
aggregate value of 3ﬁ'{ darat &
goods and services THI He
produced by the firms I AT HTh (SR
(product method) fafer) aiix

(c) measuring the 3 WHT R YIS ST e
aggregate value of -

spending received by
the firms (expenditure
method).

(=g fafy)|
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In the product method, 3dIg fafyr ° g8l 0T Rl
to avoid double E oh fau g wegadl a-{_—@ﬁ'
counting, we need to

deduct the value of & Hed H WF" & 3ﬁ'«\:
intermediate goods and 3fay a&g3 3R darett
take into account only s o Hl Bl B9 KT
the aggregate value of 2 = 9§ e ot 9
final goods and services.

We derive the formulae TH Srfaeell hl W ™ i
for calculating the MU oh Tt Y a1 T
aggregate income of an gHd %'I

economy by each of
these methods.
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We also take note that g‘ﬁ ng{ 97 e+ § WA &
Dought for making T w5 Wﬁ i
investments and these il Hehdl % 3ﬁ'{

add to the productive favTRdl ®Hl St SR gHdAT
capacity off the - e qfg 2idt 21 99 3T &l
investing firms. There ~

may be different fo-fa= sifear &t @wdl 2,
categories of USSR ISE AU IRERED
aggregate income 3™ ST sidt 2|

depending on whom
these are accruing to.
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We have pointed out the
difference between GDP,
GNP, NNP at market
price, NNP at factor cost,
Pl and PDI. Since prices
of goods and services
may vary, we have
discussed how to
calculate the three
iImportant price indices
(GDP deflator, CPI, WPI).
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Finally we have noted
that it may be incorrect
to treat GDP as an index
of the welfare of the
country.
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